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gq;Ffs; 

gq;Fr;re;ij 

• tiuaWj;j nghJf;fk;gdpfs; jkf;F Njitahd epjpapid rpWgq;Ffshf gpupj;J 

gfpuq;f Clf mwptpj;jy; %yk; nghJkf;fsplkpUe;J ngw;Wf;nfhs;syhk;. 

• nghJkf;fs; gq;Ffis nfhs;tdT nra;aTk; tpw;gid nra;tjw;Fkhd 

trjpfis gq;Fr; re;ij toq;Ffpd;wJ. 

• gq;Ffspd; vz;zpf;if fzpf;Fk; Kiw 

 

 

cjhuzk; 

gq;Ffspd; vz;zpf;if fhzy; 

➢ fz;zd; xU gq;fpd; tpiy &. 25 MfTs;s fk;gdpapd; gq;Ffis 

thq;Ftjw;F  &. 5000 KjyPL nra;jhu;. fz;zd; thq;fpa gq;Ffspd; 

vz;zpf;ifiaf; fhz;f. 

 

 

 

 

    =  200 

cq;fspd; Kaw;rpf;F… 

1. gq;nfhd;wpd; tpiy &. 30 MFk;. mg;gq;Ffspy; &. 45 000 ,id KjyPL 

nra;Ak; xUtu; nfhs;tdT nra;j gq;Ffspd; vz;zpf;ifiaf; fhz;f.  

 

 

2. nry;td; vd;gtu; &. 20 ngWkjpahd fk;gdpnahd;wpd; gq;Ffspy; 

&. 15 000 ,id KjyPL nra;fpd;whu;. mtu; nfhs;tdT nra;j gq;Ffspd; 

vz;zpf;;ifiaf; fhz;f.  

 

gq;Ffspd; vz;zpf;if =  
KjyPL 

xU gq;fpd; tpiy 

gq;Ffspd; vz;zpf;if =  
KjyPL 

xU gq;fpd; tpiy 

   =  
5 000 

25 
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3. Rgh fk;gdpnahd;wpy; &. 60 000 ,id KjyPL nra;J mf;fk;gdpapd; &. 20 

ngWkjpahd gq;Ffis nfhs;tdT nra;fpd;whu;. mtu; nfhs;tdT nra;j 

gq;Ffspd; vz;zpf;ifiaf; fhz;f. 

 

 

4. Fkud; jd;dplk; ,Ue;j &. 40 000  ,id fk;gdpnahd;wpd; gq;Ffspy; KjyPL 

nra;fpd;whu;. fk;gdpapd; gq;nfhd;wpd; tpiy &. 8 vdpd; mtu; nfhs;tdT 

nra;j gq;Ffspd; vz;zpf;ifiaf; fhz;f. 

 

 

 

KjyPL nra;j njhifiaf; fhzy; 

cjhuzk; 

➢ fk;gdpnahd;nahd;wpd; &. 25 ngWkjpahd gq;Ffspy; 1 200 itj;jpUf;Fk; 

xUtu; mg;gq;Ffisf; nfhs;tdT nra;tjw;fhf KjyPL nra;j njhifiaf; 

fhz;f.  

 

 

 

 

 

cq;fspd; Kaw;rpf;F… 

1. fk;gdpnahd;wpd; &. 20 ngWkjpahd gq;Ffspy; 200 ,id nfhs;tdT 

nra;Ak; xUtu; mjw;fhf KjyPL nra;j njhifiaf; fhz;f. 

 

 

2. tq;fpnahd;wpd; gq;nfhd;wpd; tpiy &. 25 MFk;. xUtu;mt; tq;fpapd; 400 

gq;Ffis thq;fpdhu; vdpd; mtu; KjyPL nra;j njhifiaf; fhz;f. 

 

 

gq;Ffspd; vz;zpf;if =  
KjyPL 

xU gq;fpd; tpiy 

             1 200   =  
KjyPL 

25 

KjyPL  =  1 200 × 25   

  =&. 30 000   
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3. &. 30 ngWkjpahd gq;Ffspy; 600 ,id nfhs;tdT nra;tjw;F KjyPL 

nra;a Ntz;ba njhifiaf; fhz;f 

 

 

4. epjp epWtdnkhd;wpd; 700 gq;Ffis gq;nfhd;wpd; tpiy &. 15 tPjk; 

nfhs;tdT nra;tjw;F KjyPL nra;a Ntz;ba njhifiaf; fhz;f. 

 

 

gq;nfhd;wpd; tpiy fhzy;  

1. jPgd; &. 20 000 ,id KjyPL nra;J fk;gdpnahd;wpd; 500 gq;Ffis 

nfhs;tdT nra;fpd;whu;. mtu; nfhs;tdT nra;j gq;nfhd;wpd; tpiyiaf; 

fhz;f. 

 

 

2. nghJf;fk;gdpnahd;wpd; 1 200 gq;Ffis nfhs;tdT nra;tjw;F xUtu; 

&. 96 000 ,id KjyPL nra;jhu; vdpd; mtu; nfhs;tdT nra;j gq;nfhd;wpd; 

tpiyiaf; fhz;f. 

 

 

3. fz;zd; fk;gdpnahd;wpd; 300 gq;Ffis nfhs;tdT nra;tjw;F &. 12 000 

,id KjyPL nra;jhu; vdpd; mtu; nfhs;tdT nra;j gq;nfhd;wpd; 

tpiyiaf; fhz;f. 

 

 

4. Nkhdh &. 20 000 ,id KjyPL nra;J fk;gdpnahd;wpd; 800 gq;Ffis 

nfhs;tdT nra;jhu;. mtu; nfhs;tdT nra;j gq;nfhd;wpd; tpiyiaf; 

fhz;f. 
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gq;FfSf;fhd gq;fpyhgk; 

➢ fk;gdpapd; ,yhgj;jpy; gq;nfhd;Wf;F toq;fNtz;ba njhif gq;fpyhgk; 

vdg;gLk;. 

➢ ,ij gad;gLj;jp gq;Ffisf; nfhs;tdT nra;Ak; xUtupd; Mz;L 

tUkhdk; fzpf;fg;gLk; 

Mz;L gq;fpyhg tUkhdk; fhzy; 

cjhuzk; 

• xU fk;gdp; xU gq;fpw;fhd Mz;L gq;fpyhgkhf &. 3 I gpuflzk; 

nra;fpd;wJ. mf;fk;gdpapy; 5 000 gq;Ffisf; nfhs;tdT nra;Ak; 

gq;FjhuUf;F fpilf;Fk; Mz;Lf;Fupa gq;fpyhg tUkhdj;ijf; fhz;f. 

  gq;fpyhg tUkhdk; = 5 000 × 3  

     = &. 15 000  

cq;fspd; Kaw;rpf;F… 

1. xU gq;fpw;F Mz;L gq;fpyhgk; &. 5 ,id toq;Fk; fk;gdpnahd;wpd; 2 500 

gq;Ffis itj;jpUf;Fk; xUtUf;F gq;Ffshy; fpilf;Fk; Mz;L 

tUkhdj;ijf; fhz;f. 

 

 

2. Fkud;  epWtdnkhd;wpd; 1 200 gq;Ffis nfhs;tdT nra;jhu;. epWtdk; 

xU gq;fpw;F Mz;L gq;fpyhgk; &. 4 tPjk; toq;fpaJ vdpd; FkuDf;F 

fpilf;Fk; gq;fpyhg tUkhdj;ijf; fhz;f. 

 

 

3. gq;F xd;wpw;F Mz;Lg;gq;fpyhgk; &. 8  toq;Fk; fk;gdpnahd;wpd; 2 400  

gq;Ffis itj;jpUf;Fk; xUtUf;F tUl epiwtpy; fpilf;Fk; gq;fpyhg 

tUkhdj;ijf; fhz;f. 

 

Mz;L tUkhdk; = gq;Ffspd; vz;zpf;if × xU gq;fpw;fhd Mz;L gq;fpyhgk; 
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4. &. 30 ngWkjpahd gq;Ffis nfhs;tdT nra;tjw;F fz;zh vd;gtu; &gh 

18 000 ,id KjyPL nra;fpd;whu;. gq;F xd;wpw;fhd Mz;L gq;fpyhgk; &. 7 

vdpd; tUl epiwtpy; fpilf;Fk; gq;fpyhg tUkhdj;ijf; fhz;f. 

 

 

%yjd ,yhgk; 

➢ nfhs;tdT nra;j gq;Ffis tpw;gjdhy; fpilf;fpd;w ,yhgk; %yjdyhgk; 

vdg;gLk;. 

my;yJ 

%yjdyhgk; fhzy; 

cjhuzk; 

• Fwpj;j fk;gdpnahd;wpd; &. 20 ngWkjpahd gq;Ffspy; 500 nfhs;tdT nra;j 

Nrhod; tUl epiwtpy; mg;gq;Ffis gq;nfhd;iw &. 28 tPjk; tpw;gid 

nra;fpd;whu;. tpw;gid nra;tjD}lhf Nrhod; ngw;Wf;nfhz;l 

%yjdyhgj;ijf; fhz;f. 

Kiw 1 

   gq;Ffspd; nfhs;tpiy = 20 × 500 

                   = &. 10 000   

gq;Ffspd; tpw;gid tpiy = 28 × 500 

         = &. 14 000   

                %yjdyhgk;  = &. 14 000 − &. 10 000    

         = &. 4 000   

Kiw 2 

xU gq;fpw;fhd %yjdyhgk; = &. 28 − &. 20    

             = &. 8   

             %yjdyhgk; = 500 × &. 8   

        = &. 4 000 

             

 

%yjdyhgk; = gq;Ffspd; tpw;gid tpiy – gq;Ffspd; nfhs;tpiy (KjyPL) 

%yjdyhgk; = gq;Ffspd; vz;zpf;if × xU gq;fpw;fhd %yjdyhgk; 
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cq;fspd; Kaw;rpf;F… 

1. gq;nfhd;iw &. 30 ,w;F nfhs;tdT nra;J &. 45 ,w;F tpw;gid 

nra;tjdhy; gq;F xd;wpw;F fpilf;Fk; %yjd ,yhgj;ijf; fhz;f. 

 

 

 

2. &. 40 tPjk; 500 gq;Ffis nfhs;tdT nra;Ak; jpNd\; mtw;iw &. 50 tPjk; 

tpw;gid nra;fpd;whu;. ,jdhy; mtUf;F fpilj;j nkhj;j %yjd ,yhgj;ijf; 

fhz;f. 

 

 

3. &. 120 000 ,id KjyPL nra;J fk;gdpnahd;wpd; &. 25 gq;Ffis 

nfhs;tdT nra;Ak; xUtu; tUl epiwtpy; mtw;iw &. 30 tPjk; tpw;gid 

nra;jhu; vdpd; mtUf;F fpilf;Fk; nkhj;j %yjd ,yhgj;ijf; fhz;f. 

 

 

 

4. &. 40 000 ,id KjyPL nra;J &. 80 ngWkjpahd gq;Ffis nfhs;tdT 

nra;Ak; xUtu; tUl epiwtpy; mtw;iw &. 100 tPjk; tpw;gid nrafpd;whu;. 

mtUf;F fpilj;j %yjd ,yhgj;ijf; fhz;f. 

 

 

5. fk;gdpnahd;wpd; gq;Ffspd; re;ijtpiy &. 25 MFk;. mf;fk;gdpapy; 

&. 80 000 ,id KjyPL nra;fpd;whu;. fk;gdpahdJ xU gq;fpw;F 

Mz;Lgq;fpyhgk; &. 4 ,id toq;Ffpd;wJ. tUl epiwtpy; gq;fpyhgj;ij 

ngw;w gpd;du; mg;gq;Ffis gq;nfhd;W &. 33 tPjk; tpw;gid nra;fpd;whu; 

i. nfhs;tdT nra;j gq;Ffspd; vz;zpf;ifiaf; fhz;f. 

ii. tUl epiwtpy; fpilj;j gq;fpyhg tUkhdj;ijf; fhz;f. 

iii. gq;Ffis tpw;gid nra;tjdhy; fpilj;j %yjd tUkhdj;ijf; fhz;f. 

iv. Mz;L epiwtpy; fpilj;j nkhj;j tUkhdj;ijf; fhz;f. 


